Signature and Name of Invigilator

1. (Signature)
(Name)

2. (Signature)
(Name)

J—3106

Time : 1¥4 hours]

Answer SheetNo.: ..o,
(To be filled by the Candidate)

Roll No.

(In figures as per admission card)

Roll No.

(In words)

Test Booklet No.

PAPER—II
LINGUISTICS

[Maximum Marks : 100

Number of Pages in this Booklet : 24

Number of Questions in this Booklet : 50

Instructions for the Candidates

1. Write your roll number in the space provided on the top of this

page.
This paper consists of fifty multiple-choice type of questions.

gt o foag fder
1. T8 g8 o SR o T W A9 Ia TR faten |
2. TOYE-TH § U agfashedia e €
3. e R B W, Yo~ YRRt ST9eR! < < ST | TR i e

10.
11.
12.

At the commencement of examination, the question booklet
will be given to you. In the first 5 minutes, you are requested
to open the booklet and compulsorily examine it as below :

(i) Tohaveaccess to the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a
booklet without sticker-seal and do not accept an open
booklet.

(ii) Tally the number of pages and number of questions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period of
5 minutes. Afterwards, neither the question booklet
will be replaced nor any extra time will be given.

(i)  After this verification is over, the Serial No. of the booklet
should be entered in the Answer-sheets and the Serial
No. of Answer Sheet should be entered on this Booklet.

Each item has four alternative responses marked (A), (B), (C)
and (D). You have to darken the oval as indicated below on the
correct response against each item.

Bample: (2 ® ©

where (C) is the correct response.

Your responses to the items are to be indicated in the Answer
Sheet given inside the Paper I booklet only. If you mark at
any place other than in the ovals in the Answer Sheet, it will
not be evaluated.

Read instructions given inside carefully.
Rough Work is to be done in the end of this booklet.

If you write your name or put any mark on any part of the test
booklet, except for the space allotted for the relevant entries,
which may disclose your identity, you will render yourself
liable to disqualification.

You have to return the test question booklet to the invigilators
at the end of the examination compulsorily and must not carry
it with you outside the Examination Hall.

Use only Blue/Black Ball point pen.
Use of any calculator or log table etc., is prohibited.

There is NO negative marking.

YT Yo R T o1 STkt Frefafaa site & forg &3

ST TSRt St STTIeh! ST A ©

(i) TRA-gRKeR Eier & foTT Sk e U1 T &t TSt ht
T ! RIS T | Gell gg A1 o Rie-Hia i giRaeht
AR AH|

(ii) O YUY T BY FEITTHR U9T-YTehT o U A4T U9 et
AT o 3T NE ook Y ot Toh A UTE | TogUi giaent
T g/ woe o w & T gET o T & A e A E
reia feReit ot W T FfeUUT UfTehT iehT 7 aht qerm
ST TH S A ETeRT S8k T UR T8t Ha WoeT-gfent
A | THR Forw 3mmaent e fire fed oIt | Seeh eg =
T MUK YYT-YRTeRT AT T ST 3T T & 3Taeht
sifafies wwe fear ST |

(iii) T = % 1S IO - YRR i HH HEAT STk W Sifh
Y SR ST ! FHH T 39 T -Tfeent W 3iferd F
K

T T feTT R S fashed (A), (B), (C) 7 (D) fed m § 1

STIHT T ST o eI BT T R HTeAl HEAT € ST o =y

T T

s CAD ® O

& (C) TE IW T

T o S heel U9 U 1 oh S1aY e T8 STk W E SHfeRa

FA B | AfE 3 SR o W g3 T3 e o st fohdt o=t

T W IW FogifeRd F ¥, A TR JeaienT 721 e |

a1 g 3 Frdeil =t eAmgele 9g |

%= & (Rough Work) S5 gfeiet o 1f<am 98 W |

FfG AT ITR-GRTRT TR ST AT A1 T s off e Foresy et

Te= B Gk, TRt off 9T R g A SifeRd K ¥ o Tlen %

e sreima s R o3 ST |

YT TeT THTE B R IT-Yfaqeh Friersh 7eIcd 1 @l

TeEe § S TiaT TAIY o o5 ST |ref el e ¥ sl 7

TR ST |

10. ShaeT Sl / ehTel SITeT WSS U ohT & SEIHTe o |
11. TRt off W hT HITUTeR ( heTehele ) AT @IT oIet 3Tfe <ht

TR afia sl

12. TTeTd 3T o foTu 37eh & sh1e ST |

J—3106

P.T.O.



LINGUISTICS
PAPER —1II

Note : This paper contains fifty (50) objective type questions, each question carrying
two (2) marks. Attempt all of them.

1. In Saussurean system a sign has a :
(A) Diadic relation (B) Triadic relation

(C) Arbitrary relation (D) Functional relation

2. Arrange the following books in order in which they appeared :

(i)  Aspects of the theory of Syntax
(ii) Syntactic Structures
(iii) Logical structures of Linguistic theory
(iv) Minimalist Program
Code :
(A) (), (i), (i), (i)
B) (i), (), (i), (v)
(©) @), () (i), (iv)
(D) (), (i), (1), (ii)
3.  Assertion (A) Syntax is generative.
Reasoning (R) : Phonological rules are representative and semantic rules are

interpretive.

A) Both (A) and (R) are false

(

(B) Both (A) and (R) are true
(C) (A) is true but (R) is false
(

D) (A) is false but (R) is true
4.  The ability to lie is a design feature which is called :

(A) Prevarication (B) Displacement

(C) Reflexiveness (D) Duality of patterning
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5.  Tick out the odd pair from the following :
(A) Synonymy - paraphrase (B) Polysemy - ambiguity
(C) Homonymy - presupposition (D) Hyponymy - entailment

6.  Arrange chronologically the publication of the following books :

(i)  Aspects of the theory of Syntax
(ii)  Sociolinguistic Patterns

(iii) Verbal Behaviour

(iv) Languages in contact

(A) (i), (), (iid), (iv)

(B)  (iv), (i), (), (i)

(©) (i), (iv), () (i)

(D) (i), (i), (), (iv)

7. Match items in List - I with List - II and select the correct answer :
List -1 List - II

(a) Anaphor (i)  he, she, it
(b) Referential expression (ii) Ourselves
() Pronouns (iii) John
(d) Empty Category (iv) PRO
Codes : @ () (¢ (d)

(A) @) @) @) @Gv)

(B) @) @) @ )

(© @) Gv) @@ @)

(D) Gv) (@) (D) ()

8.  Arrange the following in order in which they appeared :
(i) D.P. Hypothesis
(ii) Syntactic Structures model
(iii) X - bar theory
(iv) Standard theory

Code :

(A) (@), (i), (i), (iv)
(B)  (iv), (1), (iii), (ii)
Q) (i), (iv), (iii), (i)
(D) (iv), (i), (i), (i)

J—3106 4
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ourselves
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PRO
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i), (iii), (ii), (iv)
iv), (i), (iii), (ii)
i), (iv), (i), ()
iv), (iii), (i), (ii)
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9. The sentence ‘She does not like the movie, does she ?” is an example of :

(A) aYes / No question (B) a Wh - question
(C) atag question (D) a tag imperative
10. Assertion (A) Word by word translation fails to lead desired sense with the

same meaning as the original proverb.

Reasoning (R) : Because proverbs, proverbial expressions, idioms and
compounds are single units as far as the meaning is concerned.

(A) (A) is true but (R) is false
(B) (A) and (R) are true
( (A) is false but (R) is true
( (A) and (R) are false

11. Assertion (A) A diagnostic test is administered at the end of a language
teaching course.

Reasoning (R) : It tells the teacher how much the learner has achieved through
the course. Which one of the following is correct.

(A) Both (A) and (R) are false
(B) Both (A) and (R) are true
(C) (A) is false but (R) is true
(D) (A) is true but (R) is false

12. Match the following :

List - I List - II
(a) Comparative method (i)  Field Linguistics
(b) Direct method (i) Computational linguistics
() Method of eliciting data (iii) Historical linguistics
(d) Participant - observation method (iv) Ethnolinguistics

(v) Language teaching

Codes @ @) () ()

@A) () (v ) (i)

® () (v 0 (i)

© i) &) O @)

O () ) @) @)

J—3106 6



10.

11.

12.

a1 She does not like the movie, does she ? 3@ g
(A) TI/AE geAaTEh (B) Il YATeIh
(C) IgY Y¥dh (D) IgY HEH

HIT(A) :  VEHAIE R 1 el 1 T a1 s foh <wen ue ored 2 §

Ak (R) : oK, GRERER STyt ekt qen THe et it gfE | T ThE ©
A) (A) T& € fRg (R) Toa §

B) (A) 3R (R) i W&l

C) (A) Terd ® foeg (R) W& &

D) (A) 3R (R) < TTord §

HAT (A) : eI T (SR ) oIt frerer ureeshy ot wHif W E §
qh (R) : I8 1Y ] Il ¢ T IISash™ & oo - 31e3an 3 fohet oo ©hg ot §
A) TH(A) 3R (R) e §

B) < (A) 3R (R) T ®

C) (A) ol € R (R) ¥&l ©

D) (A) 9@l T W (R) oA §

_~ o~ o~ o~

frefafea @1 faam FifsT iR 98 = e e
-1 geit-11
(i) & - S e
(i) GRS
c) STHR Wi ity fafy (ili) RIS WTHIaRA
(
(

d) HEURFH - Yeurerk fafy iv) TSI ATeTferR
v) - e
(@ () (o (d)
(A) @) (v) (v) (i)
(B) @@ (@v) @ (i)
Q) @) (v) @ (i)
(D) @ @) () (iv)
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13. In English ‘be...ing” ‘have...en” are :

(A)

(©

Portmanteau morphemes (B) Free morphemes

Empty morphemes (D) Discontinuous morphemes

14. The two main processes of morphology are :

A)

B

~—

(
(
(©
(

D)

Nominalization and verbalization
Inflection and word ordering
Derivation and complementation

Inflection and derivation

15. According to Jakobson, when the focus is on the message the function of language is :

(A)

Referential (B) Conative (C) Poetic (D) Emotive

16. Which one of the following pair is not correctly matched ?

Parts of sentence which belong to the same constituent but which are separated
by the other constituents ............ discontinuous constituents.

A test which is designed to show what skills or knowledge a learner knows and
do not know ............ diagnostic test.

Two language varieties existing in a community used freely for any
situation ............ diglossia.

The process of trying to understand the meaning of a word or phrase or
sentence ............ decoding

17. Assertion (A) Sociolinguistic study is related to sociology.
Reasoning (R) : Social class and speech community are similar notions.
(A) Both (A) and (R) are true
(B) (A) is true but (R) is false
(C) Both (A) and (R) are false
(D) (A) is false but (R) is true

J—3106



13.

14.

15.

16.

17.

(A) HIH & (B) T ®fm
(C) T wftH (D) FEdd wfuH
FUfSR % S & WHA ©

(A) et iR Bpamer (B)  wufafg iR visg i
(C) AT S TRTRT (D) wufdfs siv Fgwafa

SehaE o STIER, AfG S He¥ T hisd &1 1 |7 o T ©
(A) HewHicH® (B) fwarcH®

(C) <hrATHS (D) YEATcHSR

frefafea g & 9 forae & faam 7@ 2

(A) T % 39 SN foh Ueh WIeh o A ST § R ST FIShi i SUTfd o hRUT T -
U IS | SO TG Teh

Elqsél ;‘t ............. glq Eilithl

HAT (A) :  GES W O SR 9 Hefd §

qeh (R) :  GwEIfSieh o ST T - T SHE S YR 9g9 § |
(A) T (A) 3R (R) &I

(B) (A) W ¥ Y (R) T T

(C) < (A) 3R (R) Tod &

(D) (A) 7w € W (R) WEl ®
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18. Match the items in List - [ with List - II and select the correct answer from the codes
given below :

a

b

)

(
(
(
(d)

List - 1 List - II
Language and Society (i)  Ethnolinguistics
Language and culture (ii) Psycholinguistics
Language in Mind (iii) Stylistics
(

Language and Literature  (iv) Sociolinguistics

Codes : @ @) () ()

(A) (@v) @& (D) ()
(B) Gv) @ (@) ()
© @) @ (@v) (i)
(D) Gv) (@) @ (D)

19. An exocentric construction is defined as :

(A)

(D)

A construction in which the form class of the constitute is the same as that of its
constituents.

A construction which has an axis
One which is not of the same form class as any of its constituents

A construction that has a connector

20. Select the correct sequencing :

(A)
(B)
(C
(

)
D)

Prefix - headword - suffix - inflectional marker
Prefix - headword - inflectional marker - affix
Headword - suffix - inflectional marker - prefix

Prefix - headword - inflectional marker - suffix

21. Arrange the following concepts in order in which they appeared in the history of
linguistic theory and select the correct answer :

(A)

J—3106

Etic and emic categorization, langue and parole, competence and performance,
item and arrangement

Item and arrangement, competence and performance, etic and emic categorization,
langue and parole

Langue and parole, etic and emic categorization, competence and performance,
item and arrangement

Competence and performance, etic and emic categorization, langue and parole,
item and arrangement

10



18.

19.

20.

21.

J—3106 11

A - 1 RGN - 1 1 FHam Hifse qen = & T e, 9 w1E S| R e ey

T - 1 T - 11
(a) T 3R WA (i)  JSmfa ST
(b) T 3R Heapfa (i)  HATOIRA
(c) TAH G RSIIEEIE|
() iR T (iv) ST o foee
@@ () (o (d)
(A) (v) (@) (D) (i)
B) @(v) (@) @) (i)
Q) (@) (@) (v) (i)
(D) (v) (i) @) (i)
S hiaeh A H R §

A) T T o el %1 €9 o a8 Aar € S SHh T i Bl ©
B) Qe T forqent atet dran €
C) U A Sl 39 AT ¥ Gelferd e gt o1 ®9 a7 | ST =T HIE TH BT © |

Tt T forey e ST ®

(
(
(
(D

)
)

& 1 g

A) Y6 I - JYE U - W I - favfe foes
B) o Y - 9uM W - faufed foes - g
C) UM ¥ - Ry - favfe fomes - 76 v

(
(
(
(D) Yo YT - YA Wsg - foufert fogeh - Wy

)
D)

frfafea sauroned w1 wifte fagra & sfaem 7 wfeq 29 & %0 4 afeg Fifay iR
H@Wﬂﬁq:

A) T AR uftren wifesmtor - @ 3R IR - e iR feares - #e 3R fa=md
B) W% 3R foram - & SR froares - ufeen oiR ufirk wifehior - @i 3R IR
QAT 3R IR - ek iR ufrek Fifeshor - apgan iR foaes - g iR fommg
&THaT IR feare - ufesk iR ufiek wifestor - @i 3R 9Re - W @R fa=md
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22. Put the application of the following rules in Generative Grammar in order :

Phonological rules, Lexical insertion rules, transformational rules, phrase structure
rules

Subcategorization rules, Lexical insertion rules, Phrase structure rules, semantic
rules

Phrase structure rules, Transformational rules, Lexical insertion rules, Phonological
rules

Phonological rules, Semantic rules, Phrase structure rules, Transformational rules

23.  Which one of the pair is correctly matched ?

(A) A person’s internalised grammar of language ............ performance
(B) An approach to the study of meaning which analyses a word into a set of
phonemes ............ componential analysis
(C) A type of boundary between two phonemes ............ juncture
(D) A group of words which contain a limited number of items ............ open class
24. Assertion (A) Languages are classified typologically on the basis of structural

items.

Reason (R) : Maphological typology of the 19th century was a typological
classification in this sense.

(A) Both (A) and (R) are wrong

(B) (A) is right but (R) is wrong

(C) Both (A) and (R) are true

(D) (R) is right but (A) is wrong

25. Assertion (A) A dictionary is a record of language usage, therefore it shall

include slang as well.

Reasoning (R) : Because slang words are often not widely known, they should
appear in a dictionary so that people can look up their meaning.

(A) (A)is true and (R) is false

(B) (A) and (R) are true

(C) (A)is false and (R) is true

(D) (A) and (R) are false

12



22.

23.

24.

25.

TStk AR B 3 fem forg 60 H o] 2 ©

(A) e fom, weg frow frem, e W, gesiy J@E fem
(B) Suehifehu Fram, vt frorwr 1w, ueay wem fram, smeff fam
(C) UcaY &= 1w, wuiaee fem, wieg e fam, @t fam
(D) Taffhes oM, anedt fram, ggeie S M, saiaen feam

frfafed & 9 =F o1 F7a 9 foer €

(B) 21 1= whi Ut UgHa S 91k ol W & = | favaifod Lt § . ECap)
forgeton

(C) <1 T o o & A T e Hfed
(D) gl o1 UHT §E FreH #&) ot WiHd &A1 Q... T o

HAT(A) ¢ TS T HEUTCHS R TS S o STTHR W AT S ¥
@k (R) : 19 o v 1 ®UHE TEY foaH 9 19 § YEUHS aviiehIor o |
(A) TH (A) &R (R) Tod ©

(B) (A) W & W (R) T ©

(C) TF (A) 3R (R) T 7

(D) (R) W © I (A) o §

HAT(A) : VTSGR T YA BT AT BT ¥ 1 ST TN ST HI FHIET BT
e 1

qh (R) : i STIUTN & Ieg WA: WA -6l eI, TECTY ST Ieaehisl | qHE
fard & ek o ST o1 SIH W |

(A) (A) T T R (R) e &
(B) (A) 3R (R) < W&l §
(C) (A)Terd € 3R (R) WEl @
(D) (A) 3R (R) THI Tod ©
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26.

27.

28.

29.

Match the following :

List - I List - IT
(a) Daniel Jones (i)  Structuralism
(b) Chomsky (i) Dictionary
() Roman Jakobson (i) Dravidian
(d) Hermann Gundert (iv) Phonetics
(v)  Syntax

(A) @) ) @ @)
(B) @) @Gv) O (V)
© v (@) @) @

(D) @) (@) @ G

Saussure identifies two types of relations between signs :

(A) Associative and syntagmatic (B) Syntagmatic and paradigmatic

(C) Logical and arbitrary (D) Primary and secondary

Assertion (A) Linguistics tries to understand how language is structured and
how it functions.

Assertion (B) Linguistics tries to study the human mind.

(A) (B) follows from (A)

(B) (A) follows from (B)

(C) Both (A) and (B) are independent

(D) (A) contradicts (B)

Arrange the following concepts in order in which they appeared in history of linguistic

theory and select the correct answer :

A) IC Analysis, DP Hypothesis, T - rules, D Structure and S Structure
B) DP Hypothesis, IC Analysis, D Structure and S Structure, T rules
C) T rules, IC Analysis, DP Hypothesis, D Structure and S Structure
D) IC Analysis, T - rules, D Structure and S Structure, DP Hypothesis

J—3106 14



26. feTaRT - 1 TR dATfetaht - 111 S TE TaI ol gafad sitsg 3iR freafafed we § oega ST o
q 9 WM

arfetant - 1 atfeteRt - 11
(a) <= S () HEAER
(b) TR (i) YR
(c) T STehereH (iti) Efore gRER
(d) =L (iv) = fomm
(v) o foam
(@ () (o (d)
(A) @) (v) @ ()
(B) @) @(v) @ ()
Q) (v (i) @v) ()
(D) @) @) @ @G

27. YRl § HRR A YR F Feel i 9= FW ©
(A) TEEr iR foamashes
(B) famrashureash IR EuEeTd
(C) difeher 3R agfoeh
(D) nfies SR o

28. HUAT(A) : O fOAH I THIH 1 TAE H1 § o o1 1 W FY Bt § iR T
FY Yprd B R |

qeh (B) : WIS HME —H9 % ST 1 YAE Bl © |
(A) (B) (A) I STTEIT I &

(B) (A) (B) <l STLEI &l §

(C) =i (A) &R (B) @dd ©

(D) (A) (B) &1 fog a1 € |

~—

29. fr=fafea Geeameti & wifte fagra & 3faer § 397 w1eshd & STTUR rafierd Hifee 3t
T I I

(A) Hfafed He foarom, €11, gEfufaw, 3 frm, <HE o T S
(B) S, el whifed sk e, €S o T e, 3 e
(©) A.frm, wffeq s foverm, &6, erifofas, &, w iR T8 - HE
(D) wffed Sk ey, 3. Fem, €1, e SR wE e €0, e
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30.

31.

32.

33.

34.

The IPA symbol N represents a :
(A) Voiced alveolar nasal (B) Voiced uvular liquid

(C) Voiced uvular nasal (D) Voiceless palatal nasal

Assertion (A) The adjective ‘envious’ takes two arguments.

Reasoning (R) : The verb ‘envy’ semantically and morphologically closely related
to the adjective, which also takes two arguments.

(A) (A)is false, (R) is true
(B) Both (A) and (R) are true
(C) Both (A) and (R) are false

(D) (A) is true, (R) is false

Assertion (A) The power pronoun semantics, like the power relationship, is
non reciprocal.

Reasoning (R) : The participants involved in address forms and social
relationships that reveal do not belong to the same speech
community.

(A) (A) is false, but (R) is true
(B) Both (A) and (R) are true
(C) Both (A) and (R) are false

(D) (A) is true, but (R) is false

When every morpheme appears to have just one meaning and a word consists of many
morphemes, the language is called :

(A) Agglutinative (B) Inflectional (C) Isolating (D) Synthetic

Malto belongs to :
(A) Indo - Aryan (B) Dravidian

(C) Tibeto - Burman (D) Austro - Asiatic

J—3106 16



30. oM W U o N @iash §
(A) T S A (B) we stfefemate wel T
(C) wEm stfafsreeta i (D) | drered T

31. wIT(A) : TR ‘envious’ B A TR ¥
ThH (R) : B0 ‘envy’ 21 iR wuuharcas gfy @ fodivo @ Heg sud Qe
A) (AT T (R) T&
B) <Ml (A) 3R (R) W&l &
C) <THi (A) 3R (R) 7ol §
D) (A) ¥ 8 (R) 7o @

32. WUT(A) :  WYTT o Goel ki Wid, FE HAAH H1 o7, SRl T |
qeh (R) :  GeleH o ®U H FeurT 3R 3 aHifSieh Helel T8 i © foh o weh afyes
Y™ & AT |
(A) (A) T § T%] (R) & ®
(B) <THi (A) 3R (R) I 7
(C) T (A) 3R (R) TTerd ©
(D) (A) W&l & T (R) T &

33. & Yo A9 HI hael Tk 1o &1 SR veg e S F 1 2 Al T FHgerdt § |
(A) INTHF (Agglutinative)
(B) fayfem9e™ (Inflectional)
(C) STENTcH (Isolating)
(D) Hf¥TE (Synthetic)
34. TIE H1 Gey e aRaR A R
(A) i o (B) wfas
(C) fooret - (D) 3Ts-uferrE
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35.

36.

37.

38.

Assertion (A) The part of speech of a word is not determined by its meaning,.

Reason (R) : Therefore equating each quality with an adjective may give
wrong results.

(A) (A) and (R) both are wrong
(B) (A) is right but (R) is wrong
(©) (R) is right but (A) is wrong
(

D) Both are correct
The sounds [b] and [m] differ in their :
(A) Place of articulation (B) Air - Stream mechanism

(C) Manner of articulation (D) Voicing

Match the following and select the correct answer from the codes given below :

List - I List - II
(a) Synchronic study (i)  Prototype
(b) Ongoing sound change (i) Genetic relations
(c) Language reconstruction (iii) Language as a State
(d) Language family (iv) Social motivation
(v) Idiolect

Codes: (a) (b) (c) (d)

(A) @v) (@) @& (V)
(B) @) Gv) @ @)
© (v @) @ @)
(D) @) (@) (v) (i)

The term “neutralization” refers to :

A) The loss of distinction between two phonemes in a particular environment
B) The process of a sound becoming non distinctive

C) The loss of a phoneme in a word final position

D) The merger of two sounds into one
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35. aafuered (A) : o v & wsede o freior suk ored & W A

gfomar (R) : ST Yo T 1 fordt fagmr % wmey we ¥ TTerd uiomm /)
T T |

(A) (A) 3R (R) SHI Tod §
(B) (A) W& § Wiferd (R) e §
(C) (R) W& ¢ &feh (A) 7ol §
(D) TN HET |

36. =AM (b) 3 (m) A FTWT
(A) SR M (B) Ag-FelE T
(C) =R HaAd (D) EfrefeRTo

37. TfeTaRT - I 1 U o aTfeteRt - II i Wel § gAfea sifse iR fAfafed #ie @ 98t ™

arfetaht - 1 qrfetaht - 11
(a) chehlfcleh 3TEA3H (i)  gum
(b) Tramia saft afedd (i) AR Gy
(c) TSN AL (ili) TN e STaERq
(d) o gREm (iv) HEISR SAH

(v) afs deft

@@ () (o) (d)
(A) @v) (i) @ ()
(B) @D (@v) @) (i)
©) (v) @) @ ()
D) @ (@) @v) (i)

38. fAfefoefietul (neutralization) 1 219 g
(A) Tt aftere foer # <) wifHi & 9 <
(B) Tt eafs o1 sTuftesee o1
(C) == | @ 1 A
(D) < &A1 THIHR BT
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39.

40.

41.

42.

43.

44.

Knowledge of the language of a native speaker is :
(A) LAD (B) Performance
(C) Competence (D) Both (A) and (B)

The notion ‘mentalism’ and ‘behaviourism’ came from :
(A) Political Science (B) Anthropology
(C) Education (D) Psychology

Arrange the following in the chronological order in the study of languages :
(A) Philology, Historical linguistics, Structuralism, Generative grammar

(B) Philology, Generative grammar, Structuralism, Sociolinguistics

(C) Sociolinguistics, Generative grammar, Structuralism, Historical linguistics
(

D) Generative grammar, Sociolinguistics, Philology, Historical linguistics

Identify the correct order in which of the following sound laws appear :
A) Grimm’s Law, Verner’s Law, Fortunatov’s Law, Grassmann’s Law

B

~—

( Grimm’s Law, Grassmann’s Law, Verner's Law, Fortunatov’s Law
(C) Fortunatov’s Law, Grassmann’s Law, Verner's Law, Grimm’s Law

D) Grassmann’s Law, Fortunatov’s Law, Grimm’s Law, Verner’s Law

The number of syllables in the word “ability” is :
(A) Two (B) Three (C) Four (D) Five

Assertion (A) The morphology of suffixes associated with grammatical
relations is called case.

Reason (R) : But case also is associated with nematic relations.
(A) (A) and (R) both are true
(B) (A) is true but (R) is false
(C) (A) is false but (R) is true
(D) (A) and (R) both are false
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39.

40.

41.

42.

43.

44.

et TGS T T AT FH e §
(A) W TS gfaty (B) feareA
(C) e (D) Hi (A) ¥R (B)

‘AR’ (mentalism) 3R ‘SEERAR’ (Baheviourism) i STauRN fAfafad & st

(A) TSR (B) Tl
(C) Tuememe (D) HAIfo=H

frefafad o1 o s1eas | ek W At sty

A) TramEst - Udeias v faiqm - SEAER - IS e SR

B) TRATIS - Ysieh SR - HEAER - HHIS Ao

C) THS HHIIRH — YSieh SR — WEAER - Ufdeias vrerfasm™
D) S AU — FHS WIHITaRH - fhererrsit - Ufdetides vrefame

~—"

(
(
(
(

& SerhH aee s femem frfafad saft fawi 1 gfaures gam -
(A) i o1 fam, o1 1w, wigEmE s fEE, aeEe s e
B) Tm =1 fraw, I s w1 fm, o o fem, wEae @ fem
(C) I skt FaH, wmeEe o1 1w, o st fram, fm s frem
(D) UTFHA w1 9w o fem, fim o fem, a3 @ e

(Ability) ¥I5% | 31aR W& ¥

(A) & (B) M (C) =R

AMIRIT (A) : RIS Helell ¥ 1 Y TG FReh Healdl §
o (R) :  Afh SRS AFE Heel § off e e |

(A) (A) 3R (R) I T |

(B) (A) W@ § WfeRd (R) e © |

(C) (A) e T AR (R) W & |

(D) (A) 3R (R) I Terd 7 |
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45.

46.

47.

48.

49.

50.

In English [P] and [Ph] are in :

(A) Complementary distribution (B)
(C) Defective distribution (D)
[D]isa:

(A) Open - mid back vowel (B)
(C) Close back vowel (D)

An ‘allomorph’ is a :
(A) Member of a morpheme (B)
(C) Class of morphemes (D)

The sentence ‘I saw a cow’ :

(A) Presupposes that ‘I saw an animal’

(B) Implies that ‘I saw an animal’
(C) Entails that ‘I saw an animal’
(D) Contradicts ‘I saw an animal’

Contrast

Freevariation

Close - mid back vowel

Open - mid central vowel

Realization of a morpheme

Member of a grammatical category

‘He hissed his mistory lectures’ is an example of :

(A) Assimilation (B)
(C) Spoonerism (D)

Communicative competence is :

(A) A part of linguistics competence

Dissimilation

Epenthesis

(B) An innate ability
(C) Another term for linguistic competence
(D) Use of appropriate language in appropriate situation

-00o0-
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45.

46.

47.

48.

49.

50.

TS H (P) &R (Ph) Fr H ©

(A) R foawor § (B) =AfdEw d

(C) g fereror H (D) ¥@ad gfEdd o

[D]®:

(A) foaga- 7 99 WR (B) Tgd - HeA UTH @R

(C) Hod 9 TR (D) faga #ea et @R

ITEY Bl §

(A) SUH o TS (B) ®fUH i Felfd

(C) wfuHi w1 o (D) Tl =Rt wife i1 Tee

I saw a cow AT

(A) ! GeHTI % ‘I saw an animal’
(B) =1 ffearef € ‘I saw an animal’
(C) o1 3TgerN¥ ® ‘I saw an animal’
(D) =1 fuene € ‘I saw an animal’

He hissed his mistory lectures dTeRI 3cTgUl g

(A)  FHtR (B)  foruwismTom
(C) wfeH (D) rfufafefa
HYTOT &THAT B &

(A)  Ifteh &FaT T |

(B) E&SId ARIAl
(C) e &l o folT o U aTRHIioe g
(D) 39gh RN | IUYHK | 1 TN

-00o0-
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Space For Rough Work
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